
1. a) 24

2. c) t]m¿®-p-K¬

3. a) 2016

4. d) sk]v‰w-_¿ 18

5. b) {Kokv

6. d) \yq-tbm¿°v

7. c) ssN\

8. a) 5

9. b) ^vfn‚ v •mkv

10. c) ^vfqdn≥

11. c) kn¬h¿ Ab-ssUUv

12. b) sI¬hn≥

13. d) dnt-bm-Ãm‰v

14. d) ]®ncpºv

15. b) Ccpºv

16. d) ]mZw

17. a) Xbm-an≥

18. c) ]mh¬

19. d) _p≤-aXw

20. b) hnim-J-Z-Ø≥

21. c) emtl-m¿

22. d) \¿ΩZ

23. d) Ub-{Sn®v {_m≥Unkv

24. a) tIm¿∏-td‰v \nIpXn

25. b) 7

26. c) 1 ao‰¿

27. d) Un.sI Im¿sh

28. d) a≤-y-{]-tZiv

29. d) _oKw l{kØv al¬

30. c) apwss_ ktΩf-\w

31. c) 30

32. b) temIvk-`-bn¬

33. a) Awt_-Zv°¿

34. a) C.sP tPm¨

35. d) kvam¿≤ hnNmcw

36.  b) Ph-l¿em¬ s\lvdp

37. c) 1965

38. d) sI.kn GeΩ

39. b) Artocarpus heterophyllus

40. c) sIm√w

41. a) \ne-ºq¿ h\w

42. b) I¬°pfw

43. d) ]´w XmWp-]n≈

44. a) D≈q¿

45. b) cmP-ÿm≥

46. b) sshim-J≥

47. a) tlmMvtImMv

48. c) IÆq¿

49. b) ctajv s]m{In-bm¬

50. a) Iev]‰ \mcm-b-W≥

51. c) kµ¿i\w

52. a) \nISw

53. c) Ac-hn-µw-t]m-ep≈ Icw

54. d) \oe-I-WvT≥

55.  b) Aev]-⁄m\w B]Øv

56. a) kwtbm-PnI

57. c) {]hmkw

58. c) KXn-sI-´-h≥

59. c) B≤-ym-flnIw

60. d) tZym-XIw

61. a)  for

             (Period of time kqNn-∏n-°m≥  for D]-tbm-Kn-°p-∂p )

62. c) larva

63. d) delitesence

64. d) whom

              (whom +pronoun)

65.  b) has

 (neither .... nor h∂m¬ second subject \v A\p-
  k-cn®v  verb Fgp-XWw  )

66. a) you were punctual

(main clause ¬ , pronoun +would+v1 h∂m¬
subordinate clause ¬ v2)

67. a) One of the woman

(One of the +plural noun+singular verb)
68. a) On

Hcp bulding A√mØ ÿesØ kqNn-∏n-°m≥ on

69. b) enmity

70 a) did they

                (saw = did+see nobody negative Bb-
          Xn-\m¬ tag positive)

71. b) Ombudsmas

72. c) the

73. b) funnier

    (comparative degree + than)

74. b) Magnumopus

75. d) Equal

76. d) band

77.b)  He had seen the film a week before

(direct speech  se ago indirect speech ¬ before
BIpw)

78. d) walk

(had better + v1)

79. d) has taken

(somebody + singular verb)

80. b) Kid

Answerkey

LDC CRACKER EXAM - 1



91. b) 46.656

Iyq-_ns‚ hym]vXw = a3= (3.6)3

                                = 46.656cm3

92. d)19 ao‰¿ Ing°v

93. a) 36

BsI lkvX-Zm\w = n (n-1)

                                                    2

                                 
=

 9(8)   
=36

                                                   2

94. c)60

       x × 20 + 48 =x
                        100

                        x- x ×20 = 48
                              100

                  80x = 48 ×100

                                  
x =

 48 ×100 
  = 60

                                            80

95. a)20% \jvSw

(\jvS-am-b-Xn-\p-Im-cWw 10 t]\ hn‰m¬
      am{Xta 2 t]\sb hmßm≥ km[n-°p)

 \jvS-i-X-am\w =   h-y-X-ymkw           ×100
               hn‰-km-[-\-ß-fpsS FÆw

             = 2  ×100   = 20%
                       10

96. c) 22 Znhkw

 
  A+B =

 10   
+

  10   
 =

   9

               50       40        20

    _m°n-tPmen = 1 ˛ 9  =  11
                 20    20

  B _m°n-tPmen

]q¿Øn-bm-°p∂ kabw 
= 11 ×40 = 22

                     20

97. c)1/7

(8*18)*3 =
   √144*3    =

   12*3

    (144*9)*49     √1296*49      36*49

                       
=
 √36

                                  √1764

                       = 6/42 =1/7

81. c) 450 cq]

A  = x,  B= 2/5 x ,     C =7
/9B

     = 7/9  × 2/5
 x

A+B+C  = 770      x+2
/5x+14  x = 770

                              45x+18x+14x   = 770×45

         x = 770 ×45

                   77

           =  450

82. d)8

ka-`p-P-ß-fpsS hi-ß-fpsS FÆw = 360/_ml-y-tIm¨

  = 360/45=8

83. c)180 In.an

        25L →150Km

                         1L → 150/25 Km = 6km

            30L → 6 × 30 ⇒180km

84. b) ktlm-Zc≥

                  F

                   Mother      brother

kv{Xn  F¬tZm

85. c)16000 (_m-°n-bp-≈h Iyq-_p-Iƒ)

86. c)1200

60h =4 ×60 =1200

          2       2

87. d)870

    441+√441 = 441+21 = 462

    841+√841 = 841+29 = 870

88. c)66

     x + y = 90

     x - y = 42

        2y = 48                       x = 90-24 = 66

                      y = 24

              henb kwJy = 66

89. c)55

]pXp-Xmbn h∂-bm-fpsS Xq°w

 =- t]mb BfpsS Xq°w + (-Aw-K-kw-Jy ×
          icm-i-cn-bn¬ h∂ hy-X-ymkw)

 = 25 + (15 × 2)  = 55

90. b) S

        A       D       H      M       S

                        +3      +4      +5     +6

18m

16m 16m

) ) ) )

Maths Expalnation

37m

 45



98. c) 75) 75) 75) 75) 75πππππ

   tKmf-Øns‚ D]-cn-Xe hnkvXo¿Ww = 4πr2

       A¿≤-tKm-f-Øns‚ hnkvXo¿Ww = 3πr2

  4πr2  = 100π

                                                             r2  = 25

                                                              r  = 5

                                                         3πr2  = 3π×25

                                                                 = 75π

99. d) ) ) ) ) 28

            (220 ÷215 ) × 23 = 25.23

                                                 =  28

100. b) 3:5:20) 3:5:20) 3:5:20) 3:5:20) 3:5:20

               A = 3/5B,    B = 1/4C

                       A:B = 3 : 5             A : B : C

                     B : C = 1:4               3  : 5

   1:  4

                                       3   :  5 : 20

                A : B : C = 3 : 5 : 20


